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1. (@) What is the difference between a repeater and a bridge? (5%)
(b) Many people use the terms Internet and world-wide web interchangeably. What is the
difference between the Internet and the world-wide web? (5%)

2. Describe the bootstrap process. (10%)

3. What conditions are necessary for deadlock to occur? (5%) In a multiprogramming
environment, describe a scenario that leads to deadlock. (5%)

4. Briefly summarize the steps performed by each of the four layers in the TCP/IP hierarchy at
the computer at which a message originates. (10%)

5. As an encryption system, what is unique about public-key encryption (that is, why is
public-key encryption so named)? (10%)

6. Explain the distinction between a formal parameter and an actual parameter. (10%)

7. In a machine language, what advantage does indirect addressing offer over immediate and
direct addressing? (10%)



8. Given the following diagram, where the numbers represent the time delays across a link.

(a) List all shortest paths from node A to node G. (3%) What is the overall delay? (2%)

(b) If node E fails, does that change the shortest path? If so, what is the new shortest path?
(5%)

9. C# writes output to the screen by having the Console object invoke a WriteLine( ) method,
for example,
Console.WriteLine("Hello Word");

Write the corresponding C statement and C++ statement, respectively. (10%)

10. Are all problems in P solvable in a reasonable amount of time? Explain your answer.
(10%)
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